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INSTRUCTIONS TO CANDIDATES
1. This Booklet contains 200 questions in all comprising the following

2. Inquestions set bilingually in English and Hindli, in case of discrepancy,
the English version will prevail.

3. Allquestions are compulsory and carry equal marks.

4. The paper carries negative marking. 0.25 marks will be deducted for each
wrong ansieer.

5. Before you start to answer the questions you must check up this
Booklet and ensure that it contains all the pages (1-24) and see that no

 youmystget it replaced immediately.

6. You will be supplied the Answer-Sheet separately by the Invigilator.
You must complete and code the details of Name, Roll Number, Ticket
Nuwber and Test Form Number of the Answer-Sheet carefully. You
must alsp put your signature and Left-Hand thumb impression on the
Answer-Sheet at the prescribed place before you actually start answering
the questions. These instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark. (VH/Cerebral Palsy candidates will be have
to ensure that these details are filled in by the scribe. However ali
VH/Cerebral Palsy candidates must put their Left-Hand thumb
impression at the space provided in the Answer-Sheet. Those
VH/Cerebral Palsy candidates who can sign should aiso put their
signatures in addition to thumb impression.}

}7. Answers must be shown by completely blackening the corresponding
ovals on Side-Il of the Answer-Sheet against the relevant question
number by Black/ Biue Ball-Point Pen Only. Answers which are not
shown by Black/Blue Ball-Point Pen will not be awarded any mark.

8. A machine will read the coded information in the OMR Answer-Sheet.
In case the information is incomplete or different from the information
given in the application form, such candidate will be awarded ‘ZERC/
mark.

9. The Answer-Sheet must be handed over to the Invigilator before you
leave the Examination Hall.

10. Failnre to comply with any of the above instructions will render a
candidate liable tp such action/ penalty as may be deemed fit.

11. The manner in which the different questions are o be answered has

been explained at the back of this Bookiet (Page No. 24), which you

should read carefully before actually answering the questions.

Answer the questions as quickly and as carefully as you can. Some

questions may be difficult and others easy. Do not spend too much

time on any question.

13. In lieu of Question Nos. 39 to 50 and 144 to 150 relating to figural
portions, alternate questions have been provided to be attempted by
VH/Cerebral Palsy candidates only.

14. Norough waork is tp be done on the Answer-Sheet. Space for rough
werk has been provided below the questions.
“Mobile phones and wireless communication devices are
completely banned in the examination halls/vooms.
Candidates are advised not to keep mobile phones/any other
wireless communifcation devices with them even switching it
off in their oww interest. Failing to comply with this
provision will be considered as using unfair means in the
examination and action will be taken against them mcludmg
gancellation af thezr candzdature
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four parts :

Part — A: General Inte.ligence & Reasoning (50 Questions)
Part — B: General Awareness (50 Questions)
Part — C: Quantitative Aptitude (50 Questions)
Part — D: English Comprehension (50Questions) -
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PART - A/ ¥ - &
GENERAL INTELLIGENCE & REASONING / 9 Ffegael U Tehvtied

1. Identify the pair which ‘does not’ exhibit the same
relationship as the capitalized pair :
ETYMOLOGY : WORDS
(A) ARCHEOLOGY : ANTIQUES
(8) PSYCHOLOGY:MIND
(@) ANATOMY:BODY
(D) PHILOSOPHY : LANGUAGE

AT W F@ Fiere I FrAfefEd I % g de
1 T g

W:W

(A) e formr « qaEs

(B) e : T

(©) TR T faa : TR

(D) TR : I

Directions : In question numbers 2 to 5, find the odd
number/ letters/ number pair from the given alternatives.

frder . wE W 2§ 5 9% 4, fau e fawed # @ fawm

Fe) Jel/Hem g 9T
2. (A) (56,19) (B) (42,14)
© (69,23) (D) (108, 36)
3. 32,13,51, 24, 46,20, 72,45
(A) 20 ® 72 © 46 D) 13
4. (A) Vestibular/SHIS (B) Eyes/3i@
(©) Nose/ T (D) Ears/<hM
5. (A) SOKJ (B) TPLI
© YUM ) RNJF
6. Arrange these letters of each group to make a

meaningful word and then find the odd one out.

el Vg T 3 ToTT Yok UE o e I I

Fifau o a0 fawd wsg 7@ FHFC
(A) VIDEID (B) GHIET
(C) VEENS (D) ORFU

7. Identify which one of the given alternatives will be
another member of the group of that class.
Lucknow, Patna, Bhopal, Jaipur, _?2___

fen e faed § A SH-T UH IH GO0 & T A
T e B ?

TGS, T, I, AR, _?

(A) Indore/38R (B) Shimla/ A=

(O Mysore/ ﬁ'ﬁ:{ (D) Pune/ qu

Directions: In question numbers 8 and 9, which one of the
given responses would be a meaningful order of the
following ?

frdvr : yw gen 8 3R g # frt famedl # | w41 fashed

= fedl g el 1 Telh A i € ?

8. 1. Frog 2 Eagle 3. Grasshopper
4, Snake 5. Grass
1. HWew 2 w3 fem
4 ¥ 5 ¥

(A) 5,3,4,2,1
© 1,3,524

®) 3,4,2,51
D) 5,3,1,4,2

9. 1. Crop 2. Root 3. Stem
4. Seed 5. Flower
1. ®Id 2. SE 3. @
4. &9 5 B
(A) 2,3,5,1,4 B 2,3,4,15
© 24,513 D) 4,2,3,51

Directions : In question numbers 10 and 11, which one set
of letters when sequentially placed at the gaps in the given
letter series shall complete it ?

et : ye g 10 311 F e B FF-T TR Gt
T W HAER @ § & T R @l H G HO 2

10. abcabcacc

(A) acbcab (B) ababac

(O ababca (D) acacab
11.  adb_ac_da_cddcb_dbc_cbda

(A) bbcad (B) bccba

(©) cbbaa (D) ccbba

Directions : In question numbers 12 and 13, a series is
given, with one term missing. Choose the correct alternative
from the given ones that will complete the series.

firder : wou T 12 313§ U g femn B, e '
e q@ ¥ fau MU fawedt ¥ @ 9 we fawes g

STHH B YU HL
12. 1,2,2,4,3,8,7,10_2

(A) 13 ® 9 © 8 O 1
13. 0,7,26,63,_1

(A) 124 (B) 87 Q) 96 D) 123
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14.

15.

16.

17.

18.

19.

In acertain code language 481" means “sky is blue’,
‘246’ means ‘sea is deep” and ‘698" means “sea looks
blue’. What number is the code for ‘blue’ ?

foplt v o 4817 I 3798 ¥ ‘sky is blue’, ‘246’ T
e B ‘sea is deep’ 31k '698” &1 AL ¥ ‘sea looks
blue’. ‘blue’ F FIs & faw #H- Ten g ?

(A) 9 ® 1 © 6 D) 8
From the given alternative words, select the word

which cannot be formed using the letters of the given
word :

frafafaa fomed ¥ 8 98 v gie S fou 7w wieg

% ST&T T WM Ik 781 T A Hehl :
ENVIRONMENT
(A) ENTER (B) ENTRANCE

() MOVEMENT (D) EMINENT

In certain code FARMER is written as MAFMRE, in
that code which word will be written as GIVALEL ?
fordt ®Is # FARMER % MAFMRE & &9 # foran

T 8, 3G FI8 B GIVALEL % &9 H SH-971 9IS

fer@n strem ?
(A) VELAIGL (B) VIALEGL
() VAGIELL (D) AIGALE

Name a single letter that can be suffixed to the
following words to form new words ?

T g §A % fore frefafen v=si & s § F-w
Tl &R TET < Gehall § 7

HAT BAR BAT PIN BATH

WD  ®A  (©OE ©) B

A man takes 6 km distance to go around the

rectangular area. If the area of the rectangle is
2km, find the difference between length and breadth.

T AfH FTAER &F & I 3R STH F 6 km FeAdT
71 AT 3Tad 1 4FFA 2 km R, Tt ofg X HISE &

o9 3 0 Siferwy
(A) 0.75km ®) 1km
(© 05km @) 2km

Some equations are solved on the basis of a certain
system. On the same basis find out the correct
answer for the unsolved equation.

F9 YE0 Ta (fea sgaven & R | g oy
TR I AR W o v ferw Wil w1 wd

I JTA HIT |
4-5-1=514,3-5-6=563,0—-6—8=_?
(A) 068 (B) 860

© 680 D) 806

20.

21.

22.

23.

Which single letter can be prefixed to the following
words in order to obtain entirely new words ? (Same
letter has to be prefixed in all the five words of each)

gt T | T8 e 99H o fou frafafes v &
Tet HH-91 Thd H&R 4l S bl 87 (T

vl W Us H 9€ UE &R A §)
EAT OUR IS AS AT
(A) B B S © H O C

In the questions given below, the symbols used are
as:

A = equal to ® = notequal to

+ = greater than @ = less than

— =notlessthan O = notgreater than

Read the questions mark the correct response. If
X-Y-Z then it does not.

W H R 8 39 TR E
A = F TR ® = & I TR
+ ="TS O =dFq
- = q %1 & O = ¥ 591 T8

79 &l ufge iR 9d I R e emun afe
X-Y-Z & a8 TE €2 .,

(A) XQY;Z (B) X®YAZ

© XOY+2Z D) XY+ Z

In a certain code, LUTE is written as MUTE and

GATE is written as HATE, then how BLUE will be
written in that code ?

fordt s H LUTE &l MUTE & ®9 § 3{RGATE !
HATE & &9 H forar sar 81 391 %€ § BLUE &

4 foran smom ?
(A) FLUE (B) CLUE
(O GLUE (D) FLUD

Sixstudents A, B, C, D, E, F are sitting on the ground.
A and B belong to Ruby House, while the rest belong
to Emerald House. D and F are tall, while others are
short. Cand D are wearing glasses, while others
are not wearing, Which girl of Emerald house who
is tall and wearing glass ?

BEBHA,B,C,D,E, FIM WIS g T A IRBH
oY well BRIH Y ¢ (w9 H Y TRES 7Y
AR DSRFAE Tafh S BHA B HIBRIZI C
3D 7 =1 TR § Sl 371 BIA A T | TS
BISH hT H-H ASH! el © 3 T UgA gL ?
A A (® B ©c ®D
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24. P QRS T,_U are 6 members of a family in which
there are two married couples. T, a teacher is married
to a doctor who is mother of Rand U. Q, the lawyer
is married to P. P has one son and one grandson. Of
the two married ladies one is a housewife. There is
also one student and one male engineer in the family.
Which of the following is true about the grand-
daughter of the family ?

(A) Sheisadoctor (B) Sheisalawyer
(C) Sheisan engineer (D) Sheis astudent

P,Q,R S T, UTH IER F 6wee 21 5 &
faatfed Se §1 fner T 1 foame SRt A g B S0
RAR UFTH %1 Fohicd QFI faae PR g g\ PI
% R Tk 9 7)) feenfed wfeensi #
et €1 aftam # s w1 off ¥ 3R T e gt
2 frefafigd § @ 1 9ER #1 9 & SR H 99
22

(A) TE SRR B (B) & A S|

© FE ISR I D) TWIATI

Directions : In question numbers 25 to 29, select the missing
number from the given responses.

ot : vod HeA 25 W29 W fau v fashedl # A 9@ 3 I6

FIT |
25. 1 "25 15 40 8

oI 65 25 90 ?

me« 45 15 60 12

&) 24 ® 6 © 12 @O 18
26. 2 4 2

3 9 3

4 16 4

8 64 ?

A) 9 B) 16 © 24 ™) 8
27. N

64 36 121 81 -

49 . 100

(A) 10 (B) 40 Q& 30 D) 20

28.

(B) 3564
D) 6543

29. 18 21 24
9 3
4 8
21 26
(A) 29 ® 22 © 24 D) 27

30. Sohandrove 15km to the west from his house, then
turned left and drove 20 km. He then turned east
and drove 25 km and finally turning left covered
20 km. How far he is from his house ?

THied o797 WY ufv=m &t @R 15 f. 5. gen, fe e
et 20 et Jem =% f | g 7 gEe
25 fo oY, =ren iR ofd § =ie gt 20 . ==
% 37 R | fraft R ?

(A) 80 km /T .. (B) 5km/f&.l.

(© 10km/ . (D) 40km/ .

Directions : If you start running from a point towards North
and after covering 4 km you turn to your Leftand run 5 km
and then again turn to your Left and run 5 km and then
turn to Left again and run another 6 km and before finishing
you take another Left turn and run 1 km, then answer the
following question based on this information.

Frdvr : afe ey I fewn # fordt wom A deT gE HE €
3 4 e Al S & o1C 91T 43 9K € s R el R
3N it A =i gt 5 . e § o 7 fire @ =T gt
6 Tor. 7. <red ¥ iR S W ¥ T8 319 iRt T 91T g
1 f.1f. <rea € o 38 SIMer & eaR W frefdfed T
I I S|

31.  From the finishing point if you have to reach the
point from where you started, in which direction
will you havetorun?

(A) South (B) East
(© West (D) North

e qU A & wH § 4 vt g YEHA F TUH
W gE ®, @ o9 R few § S8 ?

®
D) IW

() <
© v

SPACE FOR ROUGH WORK / 1% &1d & ford w78
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Directions : In question numbers 32 and 33, one or two
statements is given followed by two Conclusions/
Assumptions, land II. You have to consider the statement
to be true, even if it seems to be at variance from commonly
known facts. You are to decide which of the given
conclusions/assumptions can definitely be drawn from
the given statement. Indicate your answer.

fcer - o W 323133 W U W @) g fem mn R
sk o o frerd )/ amand, 1 3R 11 el T #1 sToe
foam &t ® T 9a0e7 T3 © WR o8 Wi 9 a9
e yda s @ | et fofa s f fen mwasgen 9 @
FA-1 fafvaa w9 § T frend /arern Fekren s gar ¥
3T 3 & Tafdwe =ifsray

32. Statement I  Allpoetsare daydreamers.
I All painters are daydreamers.
Conclusion I  All painters are poets.
I Some daydreamers are not
painters.
(A) BothIandIIfollow
(B) OnlyIfollows
(O Only Il follows
(D) NeitherInorIIfollows

T 1 aft g fearas ger ¥
0 gl feseER feares g §)
fremd I |t faaan #ia §1

I %% fearas ger faaer 78 §1
(a) T 1 ed 11T farerd ¥
®) Faa s | fFrererar £
© Faa frsd 11 Frevaan 81
(D) A frehd 1 3R 7 & Freed 11 Frspetan €

33. Statement [ Somemenare good.
II Somemen are wise.
Conclusion I  Some wisemen are good.
I Some good men are wise.
(A) If both cannot be drawn
(B) IfIalonecanbedrawn
(O IfbothIand Il canbe drawn
(D) Ifalonecanbe drawn

IR I F9 =i ot=s T
I %3 =i gfgam §
et 1 9 qfgur =fa e 3

0 %9 7= Al gfgaH §1
(&) I 9 1 F% ey T& frapern
®) Fac frad | Freperar 2
(©Q @i 13R 11 frespd frepera )
(D) hae frewd 11 Freretar & 1

Directions : In question numbers 34 to 38, select the related
word/ letters/ number from the given alternatives.

o : wvT gem 34 9 38 § feu U fawedi § @ wrafud

Y168 / &R /61 Rl (U |
34. 16:22::36:_°?
(A) 26 (B) 24 © 46 D) 44
35.  Palaeontology : Fossil : : Phrenology : _2
(A} Skull (B) Pancreas
(© Thyroid (D) Lungs
SHeTey forq < Seren : : wure fawe -2
(A) @rgt (B) =
© diatiae ©) FF
36. MIKE:OGMC::CIAD _?
(A) EICB (B) AJCF
(@) EGC_B (D) ENCF
37. 9:50::_2
(A) 15:225 (B) 20:105
© 22:110 (D) 18:190
38. JAFI = M:JADD = L:: JABA =?
@) O ® I © K ©) N

39. A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened.

I 7w srpfall # femmy STIER S N Hew
FHEH TG & 9 9% 59 S Mepha < fewn
M ?

Question figure /W9 3TEHT :

Answer figures /3T Wﬁfﬂf :
& °° 88
(A) (B) (© D)

SPACE FOR ROUGH WORK / T& &1 & o g
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40.

41.

I a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure?

7fe Tk gfor B MN T W T HE Al d T SW
S B HH -1 STRfd weT Sl Bl we i
GBI

Question figure /W91 3I@ﬁf :

: *o@ﬁ%M

E

! N .
Answer figures/’aﬂ'l‘al’l??ﬁ?ﬁ :
R& 2 XGRE R
G V] o
*) (B) © (D)

Direction: A word is represented by only one set of
numbers as given in any one of the alternatives. The
sets of numbers given in the alternatives are
represented by two classes of alphabets as in two
matrices given below. The columns and row of
Matrix 1 are numbered from 0 to 4 and that on
Matrix II are numbered from 5 to 9. A letter from
these matrices can be represented first by its rows
and next by its column, e.g., A’ can be represented
by 01,14 etc, and E can be represented by 55, 66 etc.
Similarly, you have to identify the set for the word
‘ORGAN'. )

ﬁﬁ?ﬂ: O VIR HAG UF GeA-HHE gl A T
3, <w f faedl # § el s 7 fear T g
fayereal § fam Tq Wem-wgg ARl % <1 & g ]
Ta ¥ S e A faw TS emeEl H R STegR I
ey iR ofe & HEmo R4 T < E ¥ AR AR 1
FI5Q91 39 AAH 8 TH AR i T6et 7 I IfR
3R e § TR A g SR A Hehedl € 1 A
3 forw A’ 101, 14 3Tf% GRY TP S Hebell € A E
| 55, 66 A G AR N FHEA 21 3 WE F
A TE # fou W ‘ORGAN' & faw &g &
TEEEA B |

Matrix / 3TTg - 1 Matrix/ 3egg - 11
o|112|314 5161789
olpialg|rlZz| |5|E{M[LIN]|O
1/G|R{ZIP|A] {6|L|E[O|M|N
>lziplalc|r| |7]O|N|E|L|M
slalGg|rlz|P| [8|NlO[M|E|L
siriz|r|alc| {9|M{L{NJOJ|E
(A) 98, 03,44, 22,58 (B) 75,03,11,22,76
(© 67,22,31,58,22 (D) 86,40, 23,14, 96

42.

43.

44.

From the given answer figures, select the one which
ishidden/embedded in the question figure.

sirgfa 3 g g8/ Ffea 2
Question figure /W% ICat
Answer figures/ WG@W :
s | AN |
(A) (B) © ©)

From the answer figures, select the cut pieces from
which the question figure is formed/made.

9L STHTaA F HE MW I THS! w1 9F w0
T 3R T T B
Questionfigure/waf@ﬁf:

4

Answer figures/30{ W :

NS
IR G| NN
<A

(A) (B) ©

%

4

/

@>v

Identify the diagram that best represents the
relationship among the classes givenbelow.
Soda water, Mineral water, Liquid

a1 Tru™ waRe S Hefafga JrE & «§E Jdy
1 gaifersr AT &1
qier iR, fuwe at, fafsae

(A) . ®) @O

o (T ol

SPACE FOR ROUGH WORK / % &Td & foad g
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45.

46.

In the given figure 10% are students and parents
another 10% are students and teachers and parents
15% are teachers and parents. 35% are students
and teachers. How many percentage are only
teachers, parents and students ?

< 78 STeRfd W 10% B73 IR Trar-faar € 9w 10% w13
3R freres @i wan-foan €, 15% fass iR wrer-fran
€1 35% BT 31 foere €1 fohe wferd Share fanares,
Ara- ot & o E ?

Le

Parents/

Hrar-far

(A) 40,45, 65
(© 65,40, 45

(B) 40, 65, 45
D) 45, 40, 65

Which one of the areas marked I - VIl represents the
urban educated who are nothardworking ?

19 VI T ifFd &5 o Q@ FE-91 T 0 Ied
forfera &l o1 gwifn € ) ufisedt = €2

A Urban/ Il

Hardworking /93]

VI
\/ O Educated /foif&ra

47,

(&) m (B I © 1 D) v

How many circles are there in this figure ?

39 7Rt A fopan g €2

©
N0
g o

(A) 22 ®) 13

G 16 Oy 17

48,

Identify the answer figure from which the pieces
given in the question figure have been cut.

Ay foha I SR | yeT emfa ¥ fau mo medt
& 1 MY ?

Question figure/W¥T TSI :

e
C_\%

Answer figures,;/ 3¢ :
/

oIV

4 (B) (©) (B)

Directions : In question numbers 49 and 50, which answer
figure will complete the pattern in the question figure ?

39T : w7 i 49 3R 50 F i W W R v afa

& YfaE T QR 2
49.  Question figure/ Wy 37Tk {a :
:E\(; N—
)
Answer figures /3T ar@ﬁnﬁ :
|
~ || C
( O
) ®) © (D)
50.  Question figure/ Wy 3MTHfd :
o
N
o/1\o
o XO|CX g
Q o
Answer figures /3% T Taal
o
OO o o XO ]
L_..10o 0
(A) (B) ©) D)

SPACE FOR ROUGH WORK / 7% & & &g s
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39.

40.

41.

42,

43,

Identify the missing number.

< WA 1 ST |

18 12 8

8 15 7

2 3 2

(A) 15 B) 5 ©1 D) 4

Find out the word which cannot be formed from the
given word using its letters:

98 W J1d Hifer = feu U vee & Aewi %1 w4

FEF T8l I S HFHAT A |
LABYRINTHINE
(A) BILINEAR (B) REINHABIT

(© TRIENNIAL (D) INTERNALLY

If in a certain code LANGUAGE is written as
CIKJSIP, then how GARBAGE can be written in that
code?

7fg fehet g # LANGUAGE &1 CIKJSIP &% &9 &
foran <mar 8, dt 36 s § GARBAGE &1 5% forn

e ?
(&) JCTIPI ®) JIICYP
© JTCP () PICTY

Ramu walked 50 meters towards north and turned
90° in the clockwise direction and walked 10 meters
and then turned 45° in the anticlockwise direction
and walked 20 meters. Again he turned 180° in the
anticlockwise direction and walked 20 metres. Then
he turned 45° in the anticlockwise direction and
walked 50 metres.

Which direction is he facing at the end ?

T 50 Hiet S e | wen iR w<qm fam § 900
et 10 et Ten iR fR =l &1 faudia fewn ¥ 45°
gt 20 WX 9e | 98 6T @ =2 1 favdig feen &
180° ST 20 HIX I | e 91 98 o<t &7 faodia
T # 45° et 50 HieX 5@

¥ § 3a q@ fem fom =t sig d2?

(A) North/FR (B) East/qd

© West/qf¥=m (D) South/ZfeTur

Find the odd number from the given alternatives.
feu T faened 4 | fovg e 9| sy

(A) 94 (B) 74 © 84 D) 64

'FOR VISUALLY HANDICAPPED/ CEREBRAL PALSY CANDIDATES ONLY
el ﬁwag&ar&m/@ﬁaamﬁtmﬁm%m

44.

45,

46.

47.

48.

49,

50.

Which single letter can be prefixed to the following
words in order to obtain entirely new words ?

T T ¥ T wR A F o frefatae wel &
V&S H-H1 Thel &R 1 S Fehel 7

ROPE RAY  READ OWN EASE

A) B B) A © H @) T
Insert the symbolic operations in the following
numerical flgure

frtafad weras oia 1§ ydiee Hiram wmey .
53,3,5,5=50

(A) x+- B) x+-

O —+x D) ++x

In a certain code language :

(i) 453 means ‘Pens are new’

(i) 362 means ‘Boys are young’

(i) 598 means ‘Buy new clothes’

Which digit in the language means “pens’ ?
forelt s v

() 453 %1 3% § “Pens are new’

(i) 3621 31 & ‘Boys are young’

(iii) 598 %1 319 ¥ ‘Buy new clothes’

T4 9 {68 31 1 31 ‘pens’ ® 2

@A) 8 B 3 © 4 D) 6
Find the missing letter of the series.

S T T 318 A BT |

CX,EV,IR, 2

(A) LO ®) JG © FU ) KP

Select the related numbers from the given
alternatives.

feu wu fosredi § @ Heifa g 1 999 Fif )
287:4::906:_2

W1 B ©6 ©O7
How many 5's are there in the following number
series which are preceded by 3 but not followed
by 87

Frefataa 9@ saen ¥ 1@ 5% ik fray € frm

B 3 1 3ich ¢ Ug o€ ¥ 8 T 37 TH § 7
45832735178935831352

@) 1 ®) 4 © 3 O) 2
Identify the wrong number in the given series.

3 T Sf@en H Terd HEm 3 Fifew

7,28, 63,124, 215, 342, 511

(A) 215 B) 7 © 28 (D) 124

SPACE FOR ROUGH WORK / % &4 % a3 sme

KS5-2015/Page8



51.

52.

53.

54,

55.

PART - B / 9T - &
GENERAL AWARENESS / A= SAehRT

The Mediterranean region are characterized by
heavy rainin:

{A) Autumn (B} Winter

(© Summer (D) Spring

Teafée O & FROT REAANA & TeaH] ST e «

(A) TaFS | (B) Iireiet §
(© rem wE F (D) ada R H
The ore of Aluminiumis:

(A) Fluospar (B) Bauxite
(O Chalcopyrites (D) Hematite
TegHITaH 1 ST € :

(A) TR (B) R

(© FARUEITES (D) ¥HeRE

Fascism believes in the application of the principle
of:

(A) Totalitarianism (B) Democracy

(O Utilitarianism (D) Dictatorship
w1 fovam sw faga s am A H ¥

(A) HEEHER (B) ISIA

(@REEEEIRGICI (D) TERME

The earth completes one rotation on its axis in :
(A) 23 h 10 min 2 sec

(B) 23 h 30 min

(O 23h56 min4.9 sec

D) 24h
T & T Y T T fova? Tmg & g it 8 2
(a) 23810 AR 2 qFE

. (B) 3430 H

© 23%56 4 9@Fe |
©) 2452 |

On 274 June 2015 a conference on Make in India -
Indigenisation of currency was organised by the
department of Economic Affairs Ministry of Finance
Govt. of India. Who inaugurated the conference ?
(A) PrimeMinister (B) Finance Secretary

(O GovermmorRBI. (D) Finance Minister

"0 37 gear-fsfaEaTH offw wid’ favg
2572015 %! fa@ 69 F swMIaE WhHer faum 3
58 gOre %1 s R o 30 3gures fras
R g3 7

(A) U T B) faa wf==

(© TR EEE. (D) faa s

KS-2015/Page9

56.

57.

58.

59.

60.

61.

For a missile launched with a velocity less than the
earth’s escape velocity, the total energy is:

{A) Either positive or negative (B) Positive

(© Negative (D) Zero

YA &k AT S 1 STIET FH A7 R T (7R =+
W % & fad 3 S 98 91

(A) HICHh 31YET RUcHS (B) ¥rHE

© FomeHsh D) TF

The Liquidity Preference Theory of Interest was

propounded by :
(A) AdamSmith (B) J.M.Keynes
(©) Alfred Marshall (D) David Ricardo

=1 | Hefd g stfe fagra @t afaoed
3_'{»;1"3{ fwar o -

() TEw fay (B) STA. FH

© Terhe ARl O fagfEe
Xenobiotics which are inherently resistant to
microbial attack are called as :

(A) Biodegradable (B) Persistent
(O Recalcitrant (D) All of the above

ST S Yaarsiaty smhwv & id STafes

Y 9§ gfauel € 98 $ead € ¢
(A) FEfsTeaa (B) WfaR=
(© Fepediz= (D) 3= Tt

Autocracy means :

(A) Rule by king

{B) Absolute rule by one

(O Ruleby few

(D) Rule by therepresentatives of the people
LETERCT D R

(A) TS BRI I

(B) HM Teh =Hfed gR1 FHW w8

© FS F 5 IEA

(O) SwfaffeEl g o=

Microbial Type Culture Collection Centre is situated
at:

(A) Chandigarh (B) New Delhi

(O Bangalore (D) Hyderabad

aierg e & Haviq o wuen e el fem €
(A) G4 (B) T feeedt
(© FEr (D) TTTER

The Environment (Protection) Bill was passed by
the parliament of Indiain :

A 1 e 1 YIeR (Hew) f5a 59 59 mia
foa

(A) 1984  (B) 1986 Q 1972 (D) 1981



62.

63.

64.

Heavy metals got their names because compared to
other atoms they have :

(A) Higher densities

(B) Higher atomic masses
(O Higher atomic numbers
(D) Higher atomic radii

will wigelt W A ulE T ve s T e
(A) =9 ¥

(B) I TTAIV[ETT CeqHH

Q) I=3 THIVEE He

(D) 3= WHEE g

Which of the following can be found as pollutants
in the drinking water in some parts of India ?

(@) Arsenic (b) Sorbitol

() Fluoride (d) Formaldehyde

{¢) Uranium

Select the correct answer using the code given
below :

(A) (), (b), (), (d)and (e)

(B) (a)and (c)only

© (b), (d)and (e) only

(D) (), (c)and (e) only

YA % o i § g e § Prefafed § @ wh-a
EERERCI DS IR 4

@) oREfR () TRfae
(©) TIRES (d) FAcSERS
(@) A

9 U ¢ Hs H WA FW@ FT FE I H A
& :

(A) (@), (b), (), (d) T (e)

(B) HH (a) qeI(c)

(© HE (b), (d) M (e)

(D) HH (a), (c) T4 (e)

Mahatma Gandhi began his political activities in
Indjia first from:

(A) Champaran (B) Sabarmati
(© Dandi (D) Kheda

TMETsit 3 YR | gt Tefaes At T gy
PRERET
(A) A
© =i

(B) Hr&THt
D) =

KS-2015/Pagel0

65.

66.

67.

68.

69.

70.

What is ordinary law ?

(A) Laws made by the high court

(B) Laws made and enforced by the government
(© Laws made by the common people

(D) Laws made by the supreme court

wremeoy fafyy s e a1 €9

(A) 39 AT G0 ST T FA

(B) WHR T I9@T T SR &1 fwer W A
A .

(© WM E gRI ST T S

(D) Waled =1 §RT ST T4 S

The name of the upper house of Indian parliament
1s :

(A) Legislative Assembly (B) House of Lords
(©) Senate (D) Rajya Sabha
ARG 9 o 3T 8139 1 TR 9m ¥ 1 94
€2

(A) fagm g (B) BT 3IF o

€ TR D) T |/

The Classical Dance of Andhra Pradesh is :
(A) Bharatanatyam (B) Kathakali

(© Kuchipudi (D) Odissi

HTY YU T Fedhd 67 § -

(&) sRaTIH (B) Hershell

(© Feger (D) Sewdt

“Don’t Laugh : We are police”, this book was
compiled by :

(A) Bishan Lal VohraI.G.P.

(B) KPS.GillD.G.P.

(© Shanti Swaroop 1.G. Police

(D) None of these

" AT - ) O g’ TEE G & e
forea fopan 2

(o) foer ara S o S

- (B) ®.9.ug. fira s

(© wif< @Ey RS, gfem

(D) T4 4 #¥E e

In which year did Dada Saheb Phalke produce the
First Feature Film ?

TS1 R Wik A frd 9 ool wwell v frew
TR HT ot ?

(A) 1913 (B) 1910 G 1911 (D) 1912
The Women’s Reservation Bill seeks how much

reservation for women in the state assemblies and
Lok Sabha ?

T {99 |9 99 o 9 | wigensii & ford
STRE f5e1 B fora 3TRer &t =g wel T §2
(A) 36%  (B) 25% (O 30% (D) 33%



71.

72.

73.

74.

75.

76.

In the grass lands, trees do not replace the grasses
as a part of an ecological succession because of :
(A) Insectand Fungi

(B} Limited sunlight and paucity of nutrients

(O Water limits and fire

(D) None of these

qiifeufaer STIRAYT & HR1 T oive & 9 3 e
R Y T o AQ FAF
(A) ®IE T FHa® 6] Iufefa

) Wi gF % T a0 TRl Rt FH F RO
(© wfd S & B qen e1fa
(D) T ¥ =g T
Who is considered founder of the Gupta Empire ?

(A) SriGupta (B) Chandra Gupta II
(© ChandraGuptal (D) SamudraGupta

T AHRA F1 YIS fH8 A e €2
(A) s (B) T
© TN (O) THET

When a helium atom loses an electron it becomes :
(A} anegative heliumion
(B) an alpha particle

(© aproton
(D) apositive helium ion

ﬁﬁmmmmﬂ@m%m%%m%
(A) RO Sifcrad T

(B) STTH &

Q WeH

(D) gATeHh gifeTad =T

The oldest form of composition of Hindustani Vocal
Musicis :

(A) Ghazal (B) Dhrupad

(O Thumri (D) None of these
TR et TfeTeh 1 Wi ®9

(A) TS B) &=

© TR D) 7 4 FFE T

Molybdenum deficiency affects the activity of :
(A) Nitrogenase (B) Nitrate reductase
(O Chloratereductase (D) Allof the above

TTetfse ™ STIITal S9eh! AlHad 1 W d!
?:

(A) TEARAT (B) e REgFR+

© e fgmw (D) IwiFa wsft

The technology used in the electronic printer is
called :

(A) Microtechnology (B) Microarray

(O Micromillimetric (D) Microencapsulation

goideie et ¥ fog drenfirent s wam foFa s
g 7 el 872

(A) TEREEAEE  (B) WERIE

© wARsifediizh (D) FEHTTHRHE

KS-2015/Pagell

77.

78.

79.

80.

81.

82.

Waksman got the Noble Prize for the discovery of :
(A) Chloromycetin  (B) Streptomycin

(© Penicillin (D) Neomycin

TEHT WIS & HRO FFHT HI GEd RERE
EIE2E I

(A) aa‘iﬁtrrs’fﬂfﬂ (B) wWemEiaa
(© e ) FstmmrRfET

State Bank of India was previously known as :
(A) Canara Bank

(B) Co-operative Bank of India

(© Syndicate Bank

(D) Imperial Bank of India

e dh 3 3foean veed fom A | S S o ?
(A) HTTdFH

(B) hISTEE Aeh T 3foean

© fatEe =

(D) 3dtfiae S T Tfvea

Which was the first hydel power project in India ?
(A) Nizamnagar in Andhra Pradesh

(B) Paikara in Tamil Nadu

(© Pallivasal in Kerala
(D) Sivasamudram in Karnataka

RT F 1 GUH RS el G HA-91 8 ?
(A) Y yew feorg femaR

(B) difierarg feora GEah

(© e T Yefteraa

(D) wHAles Teord faaragzn

When one gene pair hides the effect of the other unit,
the phenomenon is referred to as :

(A) Mutation (B) Dominance

(© Epistasis (D) None of the above

el Teh S 0 37 $h1E & §uTd &I foura €, @ a9
T AT FeAmd ¢

(A) 3fEdq (8) wufer

© Uetaw (D) 3w & HiE T

Indian first talkie film produced in 1931 was :
(A) Neel Kamal (B) Shakuntala
(© Alam Ara (D) Indra Sabha

1931 ¥ 9Rd a8 ¥ faffa wgelt dem ael fren
HIT-HY off ?
() Heaa
© ST

(B) et

D) =

The Battle of Plassey was fought in year:
T 1 G TR o gew wa?

(A) 1761  (B) 1757 () 1775 (D) 1576

-



83.

84.

85.

86.

87.

Liberalism stands for

(A) self emancipation

(B} freedom in social, political and economic
aspects

(O religious orthodoxy

(D) amovementand an attitude

WAAATE fhuehT 2 2 ?
(A) T ST
(B) wrHITSR, Teifden aun nfef wgeyst 1 =
(© nfHe wieareal

(D) g qen sara
Who Directed the film on the dacoit queen Phoo]an
Devi?

(A) Abaas Mastan (B) Anil Kapoor
(C) Shekhar Kapoor (D) Shashi Kapoor

ma@qwéﬁmﬁﬁﬁ—qmnﬁ off 3get
frdem fenu foran 2

(A) ST HIAH
@ VS HFR

(B) A TR
D) wfa sy

Who discovered the first antibiotic ?

(A) Louis Pasteur (B) A.Fleming
(O W.Fleming (D) C.Waksman
Som Trarafes &1 @ fofaa =t ot 2

(A) qeE TH (B) T wAHT

(©) T, wATHT (D) . areEdE
A Fuse wire is characterised by :

(A) Low resistance and low melting point
(B) High resistance and high melting point
(O Low resistance and high melting point
(D} High resistance and low melting point

Toh WS %! R I T A& o HRU Tg=HE Sl € ;
(A) T Sfalieshdl e gAaH Teis

(B) =4 WiaQuHdl a1 IF Teih

(Q A9 giateehal aen 3=9 TediS

(O) I FRGAYHA a1 =FTH T

The Dynamo converts:

(A) Mechanical Energy into Electrical Energy

(B) Electrical Energy into Mechanical Energy

(© Mechanical Energy into Magnetic Energy
(D) None of these

(A) T =1 =1 faga (sRagwa) oo §
) ferere st R wif ot o

© 3 S 1 grahig St o

D) 9 W HE T

KS-2015/Pagel2

88.

89.

90.

91.

92.

What is the Fascist view of State ?

(A) Stateis under the control of a king

(B) Nation State is unquestionably Sovere1gn

(C) State is the instrument of exploitation in the
hand of few

(D) State enhances the ideal of individualism

T fowa § widt o w7 g2

(A) T TS F Feor § e 21

®) 9 R OF TR A AFE T 3

© mwm@gﬁsﬁrﬁ%awﬁmwﬂm
SRE

(D) TH =afokiag & waifed SRon 1 agw ¥

When International “Yoga Divas ” is celebrated ?

(A) 218t July ‘(B) 215t May
(© 215 June D) 25t April
RIS ¢ feam ! e AR ST € 2
(A) 21 omE (B) 2113

© 2153 ®) 25 3T9a

Cyanide poisoning causes death in seconds
because :

(A) Ttcauses lysis of red blood cells

(B) It breaks the electron transport chain

(O Itdenatures enzymes of the heart muscle

(D) It causes cardiac arrest

RIREIESS ﬁmaam % HRU @aﬁj 79 2 ‘umﬁ g,
ERlED
(A) T R ForhisH o o= F
) ST ST s Y e died B
(© Te &<y &I Ul & TITeHi #Y TR de w4
21
(D) Hiféas Tz F=a 2
Which of the following costs is related to Marginal
Cost?

(A) VariableCost = (B) Fixed Cost
(©) Implicit Cost (D) Prime Cost

fora wmra 1 ey =am e € &2
() e @ (B) Teer &md
© soT= A (D) HeTHd AT
Spring tides occur on:
(A) Full moon day as well as on new moon day
(B) Full moonday only
(O New moon day only

(D) The day when the moon’s position is in its first
quarter

g | 9% 9K %9 339 € 2
(A) fot Ten srmrEEn ¥ fa
) Fad QuiT=t fiem w

Q) ha HEEn % e

(D) 39 f7 wa =1 1 feafa gem =qufv w &



93.

94.

95.

96.

Raga Kameshwari was composed by :
(A) Ustad Amjad Ali Khan

(B) Uday Shankar

(O Pandit Ravi Shankar

(D) None of these

U HTS Rt AT fha i ot 7

(A) THIE STUS 3T @M

(B) I7F W

(© vuftgq e v

@) T | =% T8l

The father of computer is :

(A} Lovelice (B) Charles Babbage
(C) Charles Dikens (D) Oliver twist

() & ey ®) =l S99
© e %A (D) siiferer g5

Photochemical Smog is a resultant of the reaction

among :

{(A) High concentration of NO,, Oz and CO in the
evening

(B) NO,, O; and peroxyacetyl nitrate in the
presence of sunlight

(O CO, O, and peroxyacetylnitrate in the presence
of sunlight

D) CO, CO, and NO, at low temperature

THT-THIEA T 58 stfferan 1 uftom 2

(A) T % AT NO,, O, 781 CO &1 38 Wl

(B) T vehm1 1 Iufefd § NO,, O, qan Wi
(© T v & 3ufeufd § CO, O, Tu TRt
(D) oY ™ R CO, CO, qd NO,

GEF, an international aid-giving agency has the full
form:

{A) Global Economic Fund

(B) Global Educational Fund

(© Global Environment Fund
(D) Global Energy Fund

13T, Ush A STIEH WEH T atelt TS
(A) T SHRATHE e

(B) OOH UG B

Q) T FEARTHE He

((DIEEIECREEIRES

KS-2015/Pagel3

97.

98.

99.

100.

Earthquakes are caused by :
(A} Earthrotation
(O Denudation

(B) Tectonism
(D) Earthrevolution

e HTHR
(A) ¥ g (B) HITTH
(© &= (D) 9 TRYAU

Which one of the following is the correct sequence
of ecosystem in the order of decreasing
productivity ?

(A) Oceans, mangroves, lakes, grassland

(B) Oceans, lakes, grassland, mangroves

(C) Mangroves, oceans, grassland, lakes

(D) Mangroves, grassland, lakes, oceans

Hedl SedreARlier & s H aiedfaes o 4 Frefafea
EIRRIE T

(A) "R, #913, fid, aa-HeH

(B) WUR, Fiel, Hi-HeH, Td

(© HTYE, IR, HE-HEH, did

(O) FYE, Wid-HeH, e, 9K

The business in stock markets and other securities
markets is regulated by :

{(A) Sole Trade and Exchange Bank of India

(B) Securities and Exchange Board of India

(C) State and Exchange Bank of India

(D) Stock and Exchange Bank of India

R AR aYT 374 Sfafd SR 9 SR 1 FHEE
THF GRI B €

(A) T 7T TUe TaEE A e T 3frsa

(B) fUsaifiETsi ywe Taess e i gfvean

(© We e Uaass o 3w given

(D) Eih ve TFIEs I A 3fvsa

PSW stands for:

(A) Primitive Status Word

(B) Process Status Word

() Processor Status Word

(D) Program Status Word

W TH g, T YT ©

(A) Tufifes weq 9€ ;
B) WG Sy T ’
(C) TR WeE 9

(D) Yum ¥ed 98




101.

102.

103.

104.

105.

106.

PART - C / ¥TT - 7
QUANTITATIVE APTITUDE / ufamumars sifasfa

Cost price of 100 books is equal to the selling price of
60 books. The gain percentage or loss percentage s :

100 TEIHT T AT T 60 TEH! o fasha 7oq &
ST €| WA STET B S Sheedn €
(A) 67% (B) 66% P

2 3
66—=% 66—%
© 663 ©) 665
The angle of elevation of a tower from a distance 100
mir. fromits foot is 30°. Then the height of the tower
is:

q%tﬁmmw%ﬁaﬁwoﬁ.ﬁqﬁmmw
30° %t W AR BT FeE ¥

100

(A) 5043 mtr B) ﬁ mtr
50

© 100v3 mtr D) 77 mtr

ABC s a triangle and the sides AB, BC and CA are
produced to E, F and G respectively. If
LCBE = ZACF =130°, then the value of ZGABis :

ABC T 1991 § 310 AB, BC 3R CA YI1¢ &we1: E, F
3G F1 frmR w7 31 A ZCBE=/ACF=130°%,

A LGABHI AN § :

(A) 90° B} 100° © 8o (D) 130°
If the cube root of 79507 is 43, then the value of

¥79.507 + ¥0.079507 + 30.000079507 is :
e 79507 1 o9 ea 43 % @,

®:
(A) 477.3 ®) 4.773
©Q 47.73 D) 0.4773

The ratio of each interior angle to each exterior angle
of aregular polygonis 3: 1. The number of sides of
the polygonis :

T TGS F WAF il Fv T e
ST 3: 181 TGS Y ot oo ¥ 2
(A) 9 ® 6 © 7 O 8

If m—5n=2, then the value of (m3 — 125n3 — 30mn)
is:

A m~50=2%, T (m3 - 125n3 — 30mn) FT I 2 :
(A) 9 (B) 6 ©Q 7 D) 8

107.

108.

109.

110.
79507 + Y0.079507 + 0.000079507 BT AT | -

111.

(A) 643 cm?

A boat can travel with a speed of 13 km/hr in still
water. If the speed of stream is 4 km/hr in the same

(direction, time taken by boat to £0 63 km in opposite

direction is :

T Hiehl feeR 51t ¥ 13 fr o, of sier &8 19 9§ we
Tl &1 Afs wuE fown & wm w1 i 4 FE R ufy
=R A AR fawdia fewn ¥ 63 fob ), ey wug A
ST ?

(A) 4hrs/ &< (B) 7hrs/=e

, 9

(© 9hrs/= O) 3 hrs/He

If tan® + cotf =5, then tan29 + cot2 is :

< tand + coto=5 %, T tan0 + cot20 T e
A) 26 (B) 23 © 24 D) 25

If two medians BE and CF of a triangle ABC, intersect
each other at G and if BG= CG, £BGC=60°,
BC=8 cm, then area of the triangle ABC s :

A T F1ST ABC % 1 ek BE 3R CF b gt
G W 9= %4 ¥ 3R aft BG=CG, 2BGC=60°,
BC=8 ¥.HL. T, o I3[ ABC &7 Sowa & -

(B) 9643 cm?

© 4843 cm? (D) 48 cm?

The percentage increase in the surface area of a cube
when each side is doubled is :

T T Y4 WY G H 2 W A A

(A) 50% (B) 200%
G 300% D) 150%

If x = \/a3b\/2131/b .......... *, then the value of x is :

afe x = \/aS\/b\/ag/r.......oo 2, @ 2 FAE
%.

@) ¥.3p

(B) 5ab3—
© ¥.5p O 33

SPACE FOR ROUGH WORK / T% &1 & fod wivig
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112.

113,

114.

115.

116.

The measures of two angles of a triangle is in the
ratio4:5. If the sum of these two measures is equal
to the measure of the third angle. Find the smallest
angle.

T S F A FI F AR A 4: 581 ARk
A1 HTHT 6T A0 AHL I % Y F aER ¥ A dgan
0T 1 Y|

(A) 40 B) 90 © 50 D) 10
cosa cosa

If sinf = Nand cosB: M, then the value of cos?B
is:

Coso COso

At = 2 .
Tfg sinp naﬂIcosB m g A cos?BHATR :
& —~ B

m2 + 112 m2 + n2

! 0

O 7 3 ©)

If PQRS is a thombus and ZSPQ = 50°, then ZRSQ
is:
Jfe PQRS Teh F9ETHS € 3R ZSPQ=50°%, W LRSQ
2

(A) 65° ®) 75° Q) 45° D) 55°

The printed price of an article is 40% higher than its
cost price. Then the rate of discount so that he gains
12% profitis:

e %] 6T 3{fehd o I9F T4 e H 40% ifreh
q a‘rlz%wnmm%mwmﬂaﬁaﬁ
THRITE:

(A) 18%  (B) 20% (O 15% (D) 21%

2
If x + 1 = 1,thenthevalueof-J-(—:—l-M is
x % X +7x+1

?Tﬁ\’xi-——l%ﬂ}fxz—m«i}—?lm%:
X +7x + 1

1 3
(A) 1 ® 5 Q = D) 2

117.

118.

119.

120.

121.

122.

123.

(A 37%

The simplified form of the given expression
sinAcosA(tanA — cotA) is (where 0° < A < 90°):
T AMATH sinAcosA(tanA — cotA) T T THd Y
B:EEE 0°< A <90°%)

(A) 2sin?A -1 ® 1

(Q 1-cos?A (D) 1-2sin2A

Raj and Prem walk in opposite direction at the rate

of 3 km and 2 km per hour respectively. How far
will they be from each other after 2 hrs ?

TS 3R 99 A 3 fod), offe 2 et wigsizr &7
nﬁr@%qﬂaﬁsnﬁaal%%ua%maé@@@
fopeatt I ?

(A 6km  (B) 8km () 10km (D) 2km

If two supplementary angles differ by 44°, then one
of theangle is :

g 3 GYLF vl § 44° FT FR T, 7 30 A TH S0
®:

(A) 72° B) 1022 (O 65° D) 68°
A shopkeeper gains 17% after allowing a discount
of 10% on the marked price of an article. Find his

profit percent if the article is sold at marked price
allowing no discount.

Tk GHMER 1 Toh 98 F ffohd qod W 10% F1 8
e % WE 17% 9 @ T1 afE 37 T5g B Be2 fau
Tefa Sifefal e WS Sl ¥ 1 @i hi g F
Eadl

(B) 23% D) 30%

© 27%

If x + % = 2, then the value of x12 - —% is:

1

qﬁx*-_l:z%’?hx —FW’:{F{%;

X
A 0 ® © 4 D) 2
If 8 is an acute angle and tan20 + = 2, then
the valueof 6 is : tan“0
g o TH = FHI01R 3R tan20 + ——=2 T e

tan?0

FIUER
(A) 15° (B) 45° (Q 30° (D) 60°

Given that x>+ y3=72 and xy=6 with x > y, then
the value of x —yis:

'qﬁx3+y3z723ﬂTxy=6%ﬁﬂ'ﬂﬁ x>y§.ﬁ\f x—-y
HIAFT
A -4 @® 4 © 2 0y -2

SPACE FOR ROUGH WORK / 1% &4 & fad W g
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124.

125.

126.

127.

128.

J Q@ -1

A person of height 6 ft. wants to pluck a fruit which

26
isona Y ft. high tree. If the person is standing

8
7 ft . away from the base of the tree, then at what

angle should he throw a stone so that, it hits the
fruit ?

qmwﬁaﬁwmme%%?g&iﬁ)qaﬁm

T HTEd B | 4fE AfKT 987 % Sum § % 5.
W ES R A 3 R Fro W geer S wnfew el
FE el T 6 7T 2

(A) 75  (B) 30°  (O) 45° D) 60°
Two circles touch externally. The sum of their areas

i5130 7 sq cmand the distance between their centres
is 14 cm. Theradius of the smaller circle is :

2 A I TR T R R T AT B A
130 w3 A SR 37 H= & e #1714
¥ ST @ ordanga B 79 F B E

(A) 5cm B) 2cm © 3cm (D) 4cm
The value of tan1° tan2° tan3° ....... tan89°is :-

tan1® tan2° tan3° ....... tan8° FTAFA | :

(A) 1 (B) 0 '

(D) None/#[E T

2
If the sum of two numbers, one of which is g times

the other is 50, then the numbers are -

afe 3w 1 7 50 ® 3R T A wh gen gud
32 T @ dent ¥

150 200 240 110
A) T (B) -
250 100 115 235
© 7 5 7

A man spends 75% of his income. His income is
increased by 20% and he increased his expenditure
by 10%. His savings are increased by

T A G 3T 1 75% TY Hidi &1 ITH! 39
20% 9% Sl § R qE U @ 10% w1 v 21
35! g9a et w2

(A) 50% ® 10%
@ 25% ) 37%%

129.

130.

131.

132,

133.

X 3 .
if ; = Z,theratio of (2x+ 3y) and (3y—gx) is -

X
Y

| W

Bl %,?ﬁ(lr+3y)3fl'{(3y—2r)én’7m%:

(A) 1:1 B 2:1 © 3:2 ) 3:1

A sum of money lent outat simple interest amounts
toT720 after 2:years and ¥ 1020 after a further period
of 5 years. Find the principal.

WY S R IYR < T Tk T 2 &6 & 978 3 720
S 7 5 oW1 o A T 1020 2 W &1 HET 919 H
(A) T120 (B) T 6000

© T 600 D) T 1740

Pipe A can fill a tank in 4 hours and pipe B can fill it
in 6 hours. If they are opened on alternate hours
and if pipe A is opened first then in how many
hours, the tank shall be full ?

WA@%EIM&%?&'WW%WWBH@

6HS H AT 1 AR IR - O e S @

ST 3R UTEY A T TR Gielt S & ) o ey ol
o s ?

2
© 4 O3

1 1
A 37 ® 45

The average of 7, 11, 15, x, 14, 21, 25 is 15, then the
valueof xis:

7,11,15,x,14,21, 25 FT @A 158, A x FT AR L
(A) 133  (B) 3 © 145 (D) 12

A number exceeds its two fifth by 75. The number
is:

aﬁmt—hm%éﬁ7ssﬁw%,%:.‘

(% 150  ® 125 (© 100 () 112

SPACE FOR ROUGH WORK / T% %74 & forl e
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134.

135.

136.

137.

A and B entered into a partnership investing? 16000
and ¥ 12000 respectively. After 3 months A
withdrew ¥ 5000 while B invested ¥ 5000 more.
After 3 more months C joins the business with a
capital of ¥21000. The share of B exceeds that of C,
out of a total profit of T 26400 after 1 year by :

A 3R B ¥ U& WRER FT R HAW: T 16000 IR
212000 fare fwam 1 3 TER & &g A ¥ T5000 Frerret
forz 3R B3 T5000 3R fraw few ) o wd=i % =g
C % 21000 T Y5t T FRER F wiga & T
TH 99 9% T 26400 & @9 H B &1 fe=ar ¢ 9 fwan
afus €2
(A) T 3600
© %2400

(®) %1200
) T 4800

XY and XZ are tangents to a circle. ST is another
tangent to the circle at the point R on the circle, which
intersects XY and XZ at S and T respectively. If
XY=15cmand TX=9cm, then RTis :

XY 3R XZ 0% 30 &1 wet x@d €1 99 % g R W
ST U 311 TI91 (@1 § S XY 3 XZ Y %A S 3R
TWRHEE &1 A XY=153.7. § 3k TX =9
®, I RT fera &2
(A) 6cm
GO 3cm

(B) 45cm

- D) 75m
A
Out of four numbers the average of the first three is
16 and that of the last three is 15. If the last number
is 20 then the first number is ;
TR &S A vgel O w5 ofwd 16 ® 3N aifaw @
&1 fTa 15 %1 afg dfow e 20 ¥ A weelt g=
FR?

(4) 28 ®) 25 © 21 D) 23

The length of canvas 75 cm wide required to build a
conical tent of height 14 m and the floor area
346.5 m? is :

75 Q.41 HigE 9t $aE@ @ 14 #. FAE ek
346.5 .26 &3 a1 W 2 S & Tou Feaw )
TR R

(A) 860 m
© 770m

(B) 665m
D) 490 m

138.

139.

140.

141.

142.

ABCis a cyclic triangle and the bisectors of Z/BAC,
ZABC and ZBCA meet the circle at P, Q'and R
respectively. Then the angle ZRQP s :

ABC T 613 FIys1 § 3R /BAC, ZABC @143(}\
* fguets g9 o %AW P, Qaﬂ“{Rmﬁa%%‘t a

ZRQPHT I T :
(a) 90° + 123-, ® 90° -

© 90° + D) 90° —

Acandoaworkin 10 days and Bin 20 days. If they
together work on it for 5 days, then the fraction of
the work that is leftis :

A TE &E &1 10 f&Al # i B 20 Tl O s g 21
Tfe 3 Sl et 5 el 9o 39 o 1 ot € &
&1 Toha iy o= ?

N 3 4 1
Find the square root of

(0.064 — 0.008) (0.16 ~ 0.04)
(0.16 + 0.08 + 0.04) (0.4 + 0.2)°

(0.064 — 0.008) (0.16 — 0.04)
(016 + 0.08 + 0.04) (0.4 + 0.2)° 1 T W HL

2

3 1 ’
@ws; ®3 ©3 O3

A, B and C can do a piece of work in 24, 30'and 40
days respectively. They began the work together
but Cleft 4 days before completion of the work. In
how many days was the work done ?

A, B3R C T 18 F1 %09: 24, 30 3R 40 Fefi F
Yehd €1 IR WU-T F HE ST o o ©
3 0 A A 4 e veQ i wie fean | i Fe
i © qu forar e ? B
A) 14 (B) 11 O 12 D) 13
Inarhombus ABCD, ZA=60°and AB= 12cm Then
the diagonal BD is :

T §99gHT ABCDH ZA =60° 3R AB= 12@14‘1%
4t faavl BD ®1
(A) 10cm
(O 6cm

23 cm
D) 12cm

SPACE FOR ROUGH WORK / T& &4 & a3 sime
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143. List price of a book is ¥ 100. A dealer sells three

such books for T274.50 after allowing discount ata

certain rate. Find the rate of discount,

T [KF F1 G H T A 100 T 1 U Fershan

Tt 3 gamt 1 frdl favm &1 W g <7 & AR’

274,50 G& § 99@ €1 g2 F1 LA HL

(A) 8.34% (B) 833%

(© 8.16% D) 8.5%
Study the following frequency polygon and answer the
questions numbered 144 to 146. Given a line graph
showing the number of students passed in Higher
Secondary Examination in a school over the years from
2008 to 2013.
frefafad TRaRaT 9gys &1 Seaae oY N T99 144 9 146
FH IR S| Y @ WE § UF A F 99 2008 ¥ 2013 9F
3 g ¥ Searad meafas ghan § 9 2 A forenfe

e TR T T

180 .
1601 ' \15%0
1401 138 ‘ I
1201 o /

0 2&08 20:09 2();10 20:11 20:12 20i13

144. The average of passed students in the years 2008,
2009, 2012 approximately is :

¥ 2008, 2009, 2012 ®§ 309 2R A fa=nfeEi wit
T 1 AT T - 47 ?

(A) 134.32 (B) 134.56

© 134.67 (D) 134.41

The increase in percentage of passed students from
2008 to 2011 approximately is :

2008 9 2011 &% I901 &1 a1 faenfefai ) wfaerad
T o farart 9fg g 872

(A) 53.05% (B) 55%

© 545% D) 50.5%

The decrease in percentage of passed students from
2011 to 2012 approximately :

a4 20119 2012 T ST 3 o1l faranfei =i widerar

145.

146.

T e faa Fdt e ®2
(A) 8.24% (B) 8.22%
(© 8.27% D) 8.25%

The graph shows the demand and production of different
companies. Study the graph and answer the question nos.
147-150.

5 UG H fafE w1 Hi S S saed i Qi
T &1 UTE R 3TE99 i 3R U9 9. 147-150 T I/ S |

A
Units (in lakh metric tonnes)/

70007 I (ema el 7 o)

6000+
5000+

« - Production
JIIET

» - Demand

5000

40001
30001

2000+
1000+

O ATB " C"D E"F’
Companies/ F3

147. Whatis the difference between the average demand
and the average production of the companies

(inlakh tonnes) ? (Approximately)

HfRI &) 275 7 SR SAE I Saed (S
TAH) F T IR FME? (FTIT)

(A) 325 (B 200 (C) 250 (D) 275

148. What is the ratio of the companies having more
demand than production to those having more

production than demand ?
Ie9eA B Stfuk Wi aren wetEl o i @ st
I AT HEYTAL 1 TG 8 2 '

(A)3:2  ® 1:2 (O 2:3 (D 2:1

149. The demand of company B is what percentage of

the production of company F ?
FEA B &I AT FIAF o Scure 1 foha e
@7

(A) 60%  (B) 50% (O 70% (D) 80%

150. The productionof company A is approximately what

percent of the demand of company C?

FHTAT A F1 6T HFT C HT HT HT 4 T
i 82
(A) 65% B) 50%

Q 60% (D) 55%

SPACE FOR ROUGH WORK / 1% &Td & foid 978
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FORVISUALLY HANDICAPPED/CEREBRAL PALSY. CANDIDATES ONLY

1 e/ Afaet Tedt Sear & R

144. Between 852 AM and 11.34 AM a train travels

1
1012 miles. The average speed of the trainis:

qafgd 8.52 R YATEA 11.34 & &9 U&H IAme
101% Hie AT R 71 Yermet i efug fa ¥

(A} 50 mph/H. %{d =

B) 37% mph/‘ﬁ. gfa =
© 40% mph,/#i. 9fd "1

©) 70% mph /¥l 9f =T

145. 2.5% of 478 =7? % of 50
478 °h1 2.5% =507h17? %
(A) 23.9 (B) 23.1
© 232 D) 234
146. The sides of a triangle are in the ratio = 5 g i If

the perimeter of the triangle is 52 cm, the length of
the smallest side is :

& e 5t qe %r%ri%eﬁmﬁ'%l Rl
s w1 ofag 52 B ® @ wad SR e &
T feha €2

(A) 9cm (B) 18cm

© 24cm D) 12cm

147. If 1 kg of pure milk contains 0.245 kg of fat, how

much fat is therein 14.4 kg of milk ?

afe 1 fFm. v g9 H 0245 TR am g,
14.4 .. 79 ® fordt gur g ?

(A) 3.258kg (B) 3528 kg

(© 35.28kg (D) 3258 kg

148. Findthe value of

e e RS e G
G G e G )

1 AT A 61 |
Ay 21 x-3
A T ® —
x+ 1 x4+ 1
© x+ 4 © x — 4
149. Three partners shared the profit in their business in
theratio4:3:7. If they had partnered for 15 months,
9 months and 21 months respectively then the ratios
of their investment is :
T WG+ 19 HREN H 4:3: 7% AR F o4
21| 3fg ITH HHRH FHY: 15 FeH, 9 TEN 3R
21 9EA W A1 3% T =R S P R ?
(A) 5:4:6 B) 7:2:4
© 4:3:4 D) 4:5:5
150. The diameter of a roller 1.5 m long is 84 cmn. If it

takes 100 revolutions to level a playground, find the
cost of levelling this ground at the rate of 50 paise

2
per square metre. (’“‘ = ?)

TH 15T, ) YR HI A 4 Q.. B AR |/
WA F 85 F 999 T & fe 100 SR gEa @l
50 ¥4 v arfviiet ®t X/ f7 A gHEd I &Y

. 22
B
(A) T 39
© %19.8

®) T1.98
D) %198

SPACE FOR ROUGH WORK / % &4 & f&d g
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) PART - D
ENGLISH COMPREHENSION

Directions : In question numbers 151 to 160, a sentence/a
part of the sentence is underlined. Below are given
alternatives to the underlined part at (A), (B), (C) which
may improve the sentence. Choose the correct alternative.
In case no improvement is needed your answer is (D). Mark
your answer in the Answer Sheet.
151. She said that she was glad to be here that evening.
(A) tohave beenhere (B) tobethere
(© tocomehere (D) noimprovement
152. He is somehow tall for his age.
(A) much (B) many
(© rather (D) noimprovement

153.

He met European lady at the conference who works

foran NGO. '

(A) European lady who works for an NGO at the
" conference

(B) aEuropeanlady who works for an NGO, at the
- conference '

(©) anEuropean lady at the conference who works
~ foranNGO
(D) noimprovement
154. The notorious criminal went to the police to go to

prison.
(A) surrendered himself before the police

(B) gavehimself up for the police
(©) submitted to the police
(D) noimprovement

155. Theglass figurine that was being shown in the store

window appealed to me.
(A) that was exhibited
(B) that was on display
(© thatwas advertised
(D) noimprovement
156. [did not see you for a long time.
(A) saw (B) havenotbeen seeing
(© have not seen (D) noimprovement
157. The practice of starving the children in order to cure
diarrhoea also aggravates the situation.
(A) starvechildren (B) starving children
(©) starvingchild (D) noimprovement

KS-2015/Page20

158. This news is too good to be true.
(A) sogood that it cannot be true
(B) cannot be true
(© so good that it should be true
(D) noimprovement

159. If he has time he will telephone.
(A) would (B} could
(D) noimprovement

(© might

160. Wedo not believe ina dual policy of the company.
(A) inthese dual (B) on these dual
(© in this dual (D) noimprovement

Directions : In question numbers 161 to 167, out of the four
alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening
the appropriate oval { @ | in the Answer Sheet.
161. . That which cannot be effaced.
(A) invincible (B) affable
Q) illegible (D) indelible

162. Theburial of acorpse.
(A) Interpose (B) Interment
(O Internment (D) Interrogate
163. A person who deliberately sets fire to a building.
(A) assassin (B) hijacker
(© arsonist (D) extortionist
164. To free someone fromall blames.
(A) Exonerate (B) Fling
(©) Forbid (D) Consolidate
165. One who does not believe in the existence of God.
(A) Atheist (B) Theist
(© Mystic (D) Cynic
166. One who makes an official examination of accounts.
(A) Registrar (B) Creditor
(©) Chartered Accountant (D) Auditor
167. Conferred as anhonour.

(A} honorary
{C) honourable

(B} honorarium
(D) honorific



Directions: In question numbers 168 and 169, four words
are given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

168. (A) disipate (By aneurysm
(©§ annonymous (D} carcas
169. (A) commendation (B) coherant

(© advicable

Directions : In question numbers 170 t0 179, you have two
passages with 5 questions following each passage. Read
the passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [ @] in the Answer Sheet.

PASSAGE-I (Question numbers 170 to 174).

The public distribution system, which provides food
atlow prices, is a subject of vital concern. Thereisa growing
realization that though India has enough food to feed its
masses two square meals a day, the monster of starvation
and food insecurity continues to haunt the poor in our
country.

Increasing the purchasing power of the poor through
providing productive employment leading to rising
income, and thus good standard of living is the ultimate
objective of public policy. However, till then, there is a
need to provide assured supply of food through a
restructured, more efficient and decentralized public
distribution system (PDS). Although the PDS is extensive
-itis one of the largest such systems in the world - it has n't
reached the rural poor and the remote places. It remains
an urban phenomenon, with the majority of the rural poor
still out of its reach due to lack of economic and physical
access. The poorest in the cities and the migrants are left
out, for they generally do not possess ration cards. The
allocation of PDS supplies in big cities is larger than in
rural areas. In view of such deficiencies in the system, the
PDS urgently needs to be streamlined. Also, considering
the large food grains production combined with food

“subsidy on one hand and the continuing slow starvation
and dismal poverty of rural population on the other, there
is a strong case for making PDS target group oriented. By
making PDS target group oriented, not only the poorest
and the neediest would be reached without additional cost
but we can also reduce the overall costs incurred.

170. Which of the following is true of public distribution
system ?
(A) Ithasreached the remotest corner of the country

(D) tommorow

(B) Ithasimproved its effectiveness over the years

(G It is unique in the world because of its
effectiveness

(D) Ithasremained effective only in the cities

KS-2015/Page21

171. What, according to the passage, would be the
rationale of making the PDS target - group
oriented ?

(A) It will motivate the target - group population to
work more

(B) Itwill abolish the imbalance of urban and rural
sectors

(© Itwillremove poverty

(D) It will give food to the poorest section without
additional cost

172. Thefull form of PDSis:

(A) Public distribution system
(B) Private distribution system
(O Partial distribution system
(D) Party distribution system

173. The public distribution system, which provides food

at is a subject of vital concern.
(A) as per capitaincome (B) fair prices
(© low prices (D) high prices

What should be an appropriate step to make the
PDS etfective ? .

174.
(A) Toreduce administrative cost

(B) To make it target group oriented

(© Toincrease the amount of food grains per ration
card

(D) To decrease the allotment of food grains



PASSAGE-1II (Question numbers 175 to 179).

The desert floras shame us with their cheerful
adaptations to the seasonal limitations. Their whole duty
is to flower and fruit, and they do it hardly, or with tropical
luxuriance, as the rain admits. It is recorded in the report
of the Death Valley expedition that after a year of abundant
rains, on the Colorado desert was found a specimen of
Amaranthus ten feet high. A year later the same species in
the same place matured in the drought at four inches.
Seldom does the desert herb attain the full stature of the
type. Extreme aridity and extreme altitude have the same
dwarfing effect, so that we find in the high Sierras and in
Death Valley related species in miniature that reach a
comely growth in mean temperatures. Very fertile are the
desert plants in expedients to prevent evaporation, turning
their foliage edge-wise toward the sun, growing silky hairs,
exuding thick gum. The wind, which has a long sweep,
harries and helps them. It rolls up dunes about the stocky
stems, encompassing and protective, and above the dunes,
which may be, as with the mesquite, three times as high as
a man, the blossoming twigs flourish and bear fruit.

175. Whatlesson do the desert floras have to teach us ?

{A) how to grow with grace

(B) how to growin dry places

(© how to adapt to limitations

(D) how tolivealongtime

176. Whatstops the desert floras from performing their

duty well ?
(A) the desertsand
(B) the people who pluck them
(O thedesert animals
(D) therain
177. The mesquite is a
(A) adesertflora
(B) atribe of people
(© atypeof desert animal
(D) asand dune
178. How does the wind help the desert floras to grow ?
(A) By blowing the heat away
(B) By rolling up protective sand dunes
(O By blowing gently
(D) By blowing the clouds away
179.

The desert plants face the danger of from

extreme aridity and extreme altitude.
(A) painful growth (B) early death
(©) lossofreproduction (D) dwarfism
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Directions: In question numbers 180 to 184, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the oval
[ @ ] corresponding to the appropriate letter (A, B, C). Ifa
sentence is free from error, blacken the oval corresponding
to (D) in the Answer Sheet.

180. Bobby learnt the / alphabets at the / age of two. /
(A) (B) ©

No error
D)

181. You are required to give an explanation /
(A)
for your conduct /
(B)
within two days of the receipt of this letter. /
©
No error
(D)
182. The ruins of the spillway are a vital clue /
A) :
to the epic struggle that unfold as generations of
Khmer engineers / (B)
coped with a water system that grew complex and
unruly. / (@)
Noerror
(D)
183. The sum and substance / of this poem /
(A) (B)
is as follows. / No error
© (D)
184. [watched how / the pionoist / used her left hand. /
(A) (B) ©
No error
(D)



Directions : In question numbers 185 to 189 sentences are
given with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each question.
Choose the correct alternative out of the four and indicate
it by blackening the appropriate oval [ q@ | in the Answer
Sheet.

185. Work should be guided by some __desire
of altruism and )
{A) shallow ; ability
(B) genuine ;  philanthropy
(O good ; liberty
(D) false ; honesty
186. Ships are by giant engines.
(A) driven (B) sailed
(O dragged (D) pulled
187. By morning, the fury of the floods
(A) retired (B) abated
(©) ebbed (D) receded
188. Shepipped her rival the gold medal.
(A) with (B) to (© near (D) for
189. Krisda's stories _me very strangely.
(A) afflicted (B) effected
(© changed (D) affected

Directions : In question numbers 190 to 192, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

190. Plebiscite

(A) Referendum (B) Reservation

(O Representation (D) Renunciation
191. Frugal

(A) Miserly (B) Plain

(O Economical (D) Simple
192. Diminish

(A) Worsen (B) Prohibit

(© Shorten (D) Reduce
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Directions : In question numbers 193 to 195, choose the
word opposite in meaning to the given word and mark it
in the Answer Sheet.

193. Urbane
(A) Loud (B) Rural
(@& Crude (D) Native
194.  Authentic
(A) real (B) genuine
(©) false (D) factual
195. Bold
{A) timid (B) nervous
G coy (D) fearful

Directions : In question numbers 196 to 200, four
alternatives are given for the Idiom\ Phrase underlined in
the sentence. Choose the alternative which best expresses
the meaning of the Idiom\ Phrase and mark it in the Answer
Sheet.
196. Iand my friend always go Dutch when we eat out.
(A) drive together
(B) pay for each other’s meal

(© gotogether
(D) divide the costs

197. He's as daft as a brush. Don’t believe a word of
what he says.

(A) unreliable
(O really silly

(B) aliar
(D) very funny

198. 1 shall always remember my alma mater with

gratitude.

(A) institution where I got education
(B) teacher who inspired me

(© mother’s loving care

(D) kindergarten days

199. A closefisted man does not know the significance of

human life.
(A) arichman (B} apoorman
(O anill-mannered man (D) amiser

200. Thope you will back me at the meeting.
(A) SpeakafterIdo (B) Follow

(© Criticise (D) Support
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